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u Tables

1.9+ § = 3.8 + 3 = 2. 12 -7 =

2.7 + 4 = 4, 14 -5 = m:
B Calculate.

.| [1]3c|2] |2)sc|s.| [8l9fa]| lal8s] [ ]
[ l8¢| | |2)0c| |- |3 7 +| | + 2 6
+ | 0c + 3 ] 6 9 8 8

Everyday Maths: Shapes... Draw the shapes.
triangle rectangle semicircle circle square

. 2. 3. L. 5.

score [l

u Problems... Tick (v) the correct answer.
. I had 30 cm of ribbon. I used 10 cm. How much is left?
la] 10 cm [b] 20 cm [c] 40 cm '
2. Two boys shared 10 grapes. How many did each get? o 5 b 8 12
3. There are 3 sides on a |a square b triangle ¢/ rectangle
L. Granny has 2c, 2c and 10c in her purse. Thatis o/ 12¢c b 13c l4c

12 . o
Aol What time is it?

g g\; la half past 3 [b] 4 o’clock [c| half past 4

Work it out.f

score I




